d Data for **Progress**



From October 21 to November 5, 2021, Data for Progress conducted a survey of 2,976 voters nationally using web panel respondents. The sample was weighted to be representative of voters by age, gender, education, race, and voting history. The voter segment variables were created using a combination of voter file vote history data and self-reported responses on voting in 2020 and 2018. "High potential voters" indicates voting in both 2020 and 2018.

NB: subgroups with a n-size less than 50 (<50) are not shown on these cross-tabs. We choose not to display N<50 subgroups because the sample is too small to have statistical significance. We did, however, take samples of these subgroups for representational and weighting purposes to accurately reflect the electorate makeup. Some values may not add up to 100 due to rounding.

N=2,976 unless otherwise specified.

[1] How important or unimportant are the following issues facing the U.S. today?

— Coronavirus pandemic recovery

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	64	79	58	52	67	61	61	67	64	65	72	78	62	65	73	66	57
Somewhat important	24	17	27	30	24	25	28	22	25	23	24	14	26	25	18	22	34
Not too important	7	2	7	11	5	8	7	7	7	6	4	4	7	6	6	7	5
Not at all important	5	1	7	7	4	6	5	5	4	6	0	4	5	4	3	5	4
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[2] How important or unimportant are the following issues facing the U.S. today?

— Addressing climate change, pollution, and other environmental issues

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	48	69	47	24	52	43	53	45	46	50	50	57	46	55	58	47	49
Somewhat important	27	24	29	29	29	25	31	25	29	24	36	32	26	26	24	25	36
Not too important	13	5	13	24	12	15	9	16	13	14	7	7	15	10	13	15	10
Not at all important	12	3	10	24	7	17	7	14	11	12	7	4	13	10	5	13	5
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[3] How important or unimportant are the following issues facing the U.S. today?

— Advancing racial justice and equality

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	47	67	43	26	52	40	54	42	48	45	48	77	41	56	44	45	52
Somewhat important	30	26	33	32	31	30	30	30	30	30	34	16	32	28	40	30	30
Not too important	13	5	13	24	11	16	10	16	13	13	12	4	16	10	11	14	10
Not at all important	10	2	11	18	6	14	7	12	9	11	5	2	12	6	5	12	7
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[4] How important or unimportant are the following issues facing the U.S. today?

— Protecting the economy

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	70	67	66	76	70	69	60	75	72	67	63	76	70	68	67	71	68
Somewhat important	25	29	27	20	26	25	30	23	24	28	33	18	26	25	27	25	26
Not too important	3	3	3	3	2	4	5	2	3	3	4	3	3	5	4	2	3
Not at all important	2	1	4	1	1	2	4	1	1	3	1	2	2	2	2	2	3
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[5] How important or unimportant are the following issues facing the U.S. today?

— Addressing job shortages and unemployment

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	60	63	59	58	63	57	59	61	63	56	51	72	58	63	60	60	61
Somewhat important	31	31	29	32	29	32	30	31	28	34	40	20	32	27	29	30	31
Not too important	6	5	7	7	6	6	6	6	6	7	5	5	6	7	7	7	4
Not at all important	3	1	5	3	2	4	4	3	3	3	4	2	3	3	4	3	3
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[6] How important or unimportant are the following issues facing the U.S. today?

— Increasing wages

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	48	63	46	32	54	41	55	44	52	41	41	75	43	57	62	46	54
Somewhat important	34	31	33	38	33	35	30	37	31	38	45	19	37	27	24	35	30
Not too important	14	5	14	23	10	17	9	16	12	17	11	3	16	11	9	15	11
Not at all important	4	1	6	7	3	6	6	4	5	4	3	3	5	4	5	4	5
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[7] How important or unimportant are the following issues facing the U.S. today?

— Reducing the gap between the rich and poor

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	45	64	46	23	51	39	52	41	48	41	51	66	40	56	57	43	52
Somewhat important	30	27	28	34	31	28	30	29	29	30	36	22	31	26	32	29	29
Not too important	15	7	17	23	12	18	12	17	14	17	10	8	17	10	7	16	12
Not at all important	10	2	9	20	7	14	6	13	9	12	4	3	12	9	4	11	7
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

- [8] How important or unimportant are the following issues facing the U.S. today?
- Making health care more accessible

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	62	76	59	47	67	56	64	60	64	58	64	72	59	66	68	60	70
Somewhat important	29	20	31	38	27	31	27	30	28	30	32	23	31	24	23	30	25
Not too important	6	3	6	11	4	9	5	7	5	9	4	3	7	6	5	7	2
Not at all important	3	0	4	4	2	4	3	2	3	3	0	2	3	4	4	3	3
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[9] How important or unimportant are the following issues facing the U.S. today?

 $\boldsymbol{-}$ Lowering the costs of child care and early education

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	42	58	37	28	47	36	51	37	45	36	44	65	37	53	50	41	44
Somewhat important	38	33	40	40	38	38	34	40	37	39	37	26	41	29	34	36	41
Not too important	14	7	15	22	11	18	11	16	13	17	17	7	15	14	10	15	11
Not at all important	6	2	8	11	4	9	4	8	6	8	2	3	7	4	6	8	4
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[10] How important or unimportant are the following issues facing the U.S. today?

— Increasing access to care for the elderly

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	57	65	52	51	63	50	50	60	61	50	44	68	56	58	59	57	55
Somewhat important	34	31	37	36	31	38	39	32	31	39	47	26	35	33	31	33	37
Not too important	7	4	7	10	4	9	7	6	5	8	7	4	7	8	7	8	3
Not at all important	2	1	4	3	1	3	4	1	2	3	2	2	2	2	3	2	4
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[11] How important or unimportant are the following issues facing the U.S. today?

— Protecting women's rights and advancing equality

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	46	64	45	27	53	39	54	42	48	44	42	64	42	56	53	46	46
Somewhat important	35	30	36	40	32	38	32	37	34	36	38	28	37	29	22	35	36
Not too important	12	4	13	19	11	13	9	13	11	13	14	5	13	9	19	12	13
Not at all important	7	1	6	14	4	10	6	8	7	7	7	3	8	6	5	7	6
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[12] How important or unimportant are the following issues facing the U.S. today?

— Reforming the immigration system such as improving legal immigration pathways

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	40	50	34	35	42	39	41	40	41	40	32	50	39	45	35	41	40
Somewhat important	39	40	43	33	40	38	41	37	38	40	50	35	39	41	52	38	36
Not too important	12	8	13	16	10	13	11	12	12	11	14	11	12	9	6	12	15
Not at all important	9	2	10	16	8	10	7	10	9	9	4	4	10	5	7	9	9
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[13] How important or unimportant are the following issues facing the U.S. today?

— Expanding voting rights

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Very important	40	61	32	21	41	38	42	38	40	40	35	64	34	51	44	42	32
Somewhat important	31	29	35	30	34	28	36	28	33	28	42	27	32	28	34	28	37
Not too important	18	8	20	27	17	19	14	20	17	19	16	6	20	15	13	17	24
Not at all important	12	2	13	22	8	16	8	14	11	13	7	2	14	7	9	13	8
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[14] Of the issues listed below, which do you think is the **most important** issue facing the U.S. today?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Coronavirus pandemic recovery	23	31	20	17	25	21	21	24	24	23	30	32	22	21	31	24	20
Addressing climate change, pollution, and other environmental issues	10	14	12	4	10	10	11	9	8	13	9	4	11	9	10	10	9
Advancing racial justice and equality	4	6	3	2	4	4	7	2	5	3	3	13	2	8	3	4	5
Protecting the economy	21	9	20	37	17	26	16	25	19	25	12	11	24	18	15	23	17
Addressing job shortages and unemployment	5	3	6	7	5	5	7	4	5	5	8	4	5	7	6	4	5
Increasing wages	5	5	5	4	5	4	7	3	6	3	9	9	4	4	4	4	6
Reducing the gap between the rich and poor	4	6	6	1	4	4	6	3	4	3	6	5	3	8	8	3	8
Making health care more accessible	8	11	7	5	9	6	7	8	8	7	7	6	8	7	7	7	12
Lowering the costs of child care and early education	1	1	1	1	1	1	2	0	1	1	1	1	1	1	0	1	3
Increasing access to care for the elderly	2	2	2	3	3	1	1	3	3	1	1	2	2	1	1	2	1
Protecting women's rights and advancing equality	2	3	2	2	3	1	4	2	3	2	2	2	2	3	4	2	4
Reforming the immigration system such as improving legal immigration pathways	4	2	4	7	4	4	2	5	4	3	1	0	5	4	2	5	1
Expanding voting rights	3	6	2	1	3	3	2	3	3	4	4	7	3	2	5	4	0
Other	5	1	6	8	4	5	2	6	5	4	4	2	5	4	3	5	3
None of these	3	2	4	3	2	3	3	2	3	2	2	2	2	4	0	2	6
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[15] Below is a list of different policies that have been passed recently. For each, say whether you support or oppose it.

— Expanding unemployment benefits and food assistance during the pandemic

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly support	41	59	40	21	44	37	50	36	43	38	36	63	36	51	48	39	52
Somewhat support	27	26	29	28	28	27	26	28	27	28	41	20	28	26	24	28	23
Somewhat oppose	16	9	14	25	12	20	11	18	14	18	13	7	18	10	14	17	8
Strongly oppose	11	3	10	23	10	13	7	14	11	13	7	5	13	9	8	13	8
Don't know	5	4	7	3	6	3	7	4	5	3	3	6	5	3	6	3	9
SUPPORT (TOTAL)	68	85	69	49	72	64	76	64	70	66	77	83	64	77	72	67	75
OPPOSE (TOTAL)	27	12	24	48	22	33	18	32	25	31	20	12	31	19	22	30	16
SUPPORT (NET)	+41	+73	+45	+1	+50	+31	+58	+32	+45	+35	+57	+71	+33	+58	+50	+37	+59
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[16] Below is a list of different policies that have been passed recently. For each, say whether you support or oppose it.

— Requiring employers with fewer than 500 employees to provide paid sick and family leave to employees in the first coronavirus relief package

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly support	37	55	30	22	42	31	43	33	38	35	32	53	34	42	35	37	41
Somewhat support	31	30	32	32	31	32	32	31	33	29	40	25	32	31	37	30	32
Somewhat oppose	11	6	11	17	9	13	9	12	9	14	10	6	12	11	9	12	7
Strongly oppose	10	2	10	19	6	15	4	13	9	12	4	4	11	6	9	12	4
Don't know	11	7	17	10	13	9	12	10	12	9	14	11	11	10	10	9	17
SUPPORT (TOTAL)	68	85	62	54	73	63	75	64	71	64	72	78	66	73	72	67	73
OPPOSE (TOTAL)	21	8	21	36	15	28	13	25	18	26	14	10	23	17	18	24	11
SUPPORT (NET)	+47	+77	+41	+18	+58	+35	+62	+39	+53	+38	+58	+68	+43	+56	+54	+43	+62
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[17] Below is a list of different policies that have been passed recently. For each, say whether you support or oppose it.

— Providing \$1400 stimulus checks to most Americans during the pandemic

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly support	50	66	46	35	54	46	56	47	55	42	41	73	46	59	54	46	61
Somewhat support	25	22	27	27	25	24	23	26	24	27	38	14	27	21	31	27	19
Somewhat oppose	11	6	11	17	9	14	8	13	9	14	8	2	13	9	5	13	6
Strongly oppose	9	3	9	17	6	12	6	11	7	13	9	4	11	6	6	11	6
Don't know	5	4	7	4	6	4	8	3	5	4	4	7	4	5	4	3	9
SUPPORT (TOTAL)	75	88	73	62	79	70	79	73	79	69	79	87	73	80	85	73	80
OPPOSE (TOTAL)	20	9	20	34	15	26	14	24	16	27	17	6	24	15	11	24	12
SUPPORT (NET)	+55	+79	+53	+28	+64	+44	+65	+49	+63	+42	+62	+81	+49	+65	+74	+49	+68
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[18] Below is a list of different policies that have been passed recently. For each, say whether you support or oppose it.

— Increasing the Child Tax Credit for most families with children

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly support	33	48	27	19	35	30	38	29	35	29	31	51	28	43	28	33	34
Somewhat support	31	30	32	30	29	33	30	31	29	33	40	25	32	25	34	29	32
Somewhat oppose	14	10	13	21	15	14	11	16	14	15	11	6	16	16	15	16	10
Strongly oppose	13	5	13	23	11	16	8	16	12	15	7	9	15	9	11	15	7
Don't know	9	7	15	7	11	7	13	7	10	7	10	9	9	8	13	7	17
SUPPORT (TOTAL)	64	78	59	49	64	63	68	60	64	62	71	76	60	68	62	62	66
OPPOSE (TOTAL)	27	15	26	44	26	30	19	32	26	30	18	15	31	25	26	31	17
SUPPORT (NET)	+37	+63	+33	+5	+38	+33	+49	+28	+38	+32	+53	+61	+29	+43	+36	+31	+49
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[19] Below is a list of different policies that have been passed recently. For each, say whether you support or oppose it.

— Rejoining the Paris Climate Agreement, an international agreement to reduce global carbon emissions

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly support	36	58	36	10	38	34	38	35	33	40	42	40	34	43	47	37	34
Somewhat support	23	24	22	22	25	21	29	19	24	21	31	25	22	26	20	21	27
Somewhat oppose	9	5	8	14	8	10	10	8	9	9	7	9	9	10	4	8	9
Strongly oppose	19	3	17	38	12	27	8	25	18	21	13	5	23	11	12	23	7
Don't know	14	10	17	15	18	9	15	12	16	9	7	22	13	10	17	10	23
SUPPORT (TOTAL)	59	82	58	32	63	55	67	54	57	61	73	65	56	69	67	58	61
OPPOSE (TOTAL)	28	8	25	52	20	37	18	33	27	30	20	14	32	21	16	31	16
SUPPORT (NET)	+31	+74	+33	-20	+43	+18	+49	+21	+30	+31	+53	+51	+24	+48	+51	+27	+45
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[20] Below is a list of different policies that have been passed recently. For each, say whether you support or oppose it.

— Making it easier to report hate crimes at the local and state levels, such as providing online reporting resources in multiple languages

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly support	43	62	38	25	45	41	47	41	42	45	46	66	39	54	56	43	48
Somewhat support	32	28	34	34	33	30	29	34	32	31	38	18	34	27	27	32	27
Somewhat oppose	8	3	6	15	6	10	8	8	7	9	6	3	9	6	8	8	4
Strongly oppose	8	2	8	14	5	11	6	9	8	8	3	5	9	6	4	9	4
Don't know	10	5	14	11	12	7	10	9	11	7	7	9	10	7	6	8	17
SUPPORT (TOTAL)	75	90	72	59	78	71	76	75	74	76	84	84	73	81	83	75	75
OPPOSE (TOTAL)	16	5	14	29	11	21	14	17	15	17	9	8	18	12	12	17	8
SUPPORT (NET)	+59	+85	+58	+30	+67	+50	+62	+58	+59	+59	+75	+76	+55	+69	+71	+58	+67
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[21] Below is a list of different policies that have been passed recently. For each, say whether you support or oppose it.

— Providing pandemic relief to small businesses

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly support	48	58	41	41	50	45	50	46	49	46	38	60	46	55	48	48	50
Somewhat support	39	32	41	44	39	38	32	43	37	40	49	27	41	30	37	39	31
Somewhat oppose	6	5	6	8	4	9	7	6	6	7	9	3	6	9	6	7	4
Strongly oppose	3	2	4	3	2	4	4	2	3	3	1	4	3	2	4	3	2
Don't know	5	3	8	4	5	4	7	3	5	4	3	6	4	4	5	3	13
SUPPORT (TOTAL)	87	90	82	85	89	83	82	89	86	86	87	87	87	85	85	87	81
OPPOSE (TOTAL)	9	7	10	11	6	13	11	8	9	10	10	7	9	11	10	10	6
SUPPORT (NET)	+78	+83	+72	+74	+83	+70	+71	+81	+77	+76	+77	+80	+78	+74	+75	+77	+75
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[22] Below is a list of different policies that have been passed recently. For each, say whether you support or oppose it.

— Providing pandemic relief to minority-owned businesses

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly support	35	53	29	21	38	32	42	32	37	32	31	59	30	45	40	34	42
Somewhat support	35	33	38	34	36	34	32	36	33	37	45	24	37	34	29	36	29
Somewhat oppose	10	5	10	16	9	11	10	10	10	10	12	6	11	6	12	10	10
Strongly oppose	11	3	10	21	6	16	6	14	9	13	7	3	12	9	10	13	4
Don't know	9	6	13	9	10	7	10	8	10	8	5	8	10	6	8	7	14
SUPPORT (TOTAL)	70	86	67	55	74	66	74	68	70	69	76	83	67	79	69	70	71
OPPOSE (TOTAL)	21	8	20	37	15	27	16	24	19	23	19	9	23	15	22	23	14
SUPPORT (NET)	+49	+78	+47	+18	+59	+39	+58	+44	+51	+46	+57	+74	+44	+64	+47	+47	+57
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[23] Below is a list of different policies that have been passed recently. For each, say whether you support or oppose it.

— Instructing federal government agencies to promote and increase competition across industries

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly support	21	31	16	14	19	23	23	20	21	21	29	33	18	30	25	22	20
Somewhat support	36	39	36	33	35	36	34	37	33	40	42	31	37	35	36	37	28
Somewhat oppose	12	9	11	17	10	14	14	11	13	11	13	11	12	12	11	12	13
Strongly oppose	8	3	9	13	5	11	6	9	8	9	2	4	9	7	2	10	6
Don't know	23	18	28	23	30	14	22	23	25	19	15	21	24	16	26	19	34
SUPPORT (TOTAL)	57	70	52	47	54	59	57	57	54	61	71	64	55	65	61	59	48
OPPOSE (TOTAL)	20	12	20	30	15	25	20	20	21	20	15	15	21	19	13	22	19
SUPPORT (NET)	+37	+58	+32	+17	+39	+34	+37	+37	+33	+41	+56	+49	+34	+46	+48	+37	+29
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[24] Of the policies listed below, which do you think is the most important policy that was passed?

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Expanding unemployment benefits and food assistance during the pandemic	14	19	13	9	16	12	15	14	13	15	9	13	14	15	10	14	13
Requiring employers with fewer than 500 employees to provide paid sick and family leave through the first coronavirus relief package	5	6	3	6	5	5	5	5	5	5	6	4	5	3	11	5	6
Providing \$1400 stimulus checks to most Americans during the pandemic	32	37	30	28	34	30	33	31	38	22	33	51	28	35	37	29	38
Increasing the Child Tax Credit for most families with children	6	5	5	6	6	6	9	4	6	6	5	5	6	8	7	5	7
Rejoining the Paris Climate Agreement, an international agreement to reduce global carbon emissions	10	13	13	3	10	9	8	11	7	14	14	4	11	8	16	11	7
Making it easier to report hate crimes at the local and state levels, such as providing online reporting resources in multiple languages	5	7	4	4	6	5	6	5	5	6	8	7	4	8	1	5	7
Providing pandemic relief to small businesses	13	5	15	19	11	15	9	15	10	17	7	4	15	8	5	15	8
Providing pandemic relief to minority-owned businesses	2	2	1	3	2	2	4	1	2	1	3	3	1	6	2	2	3
Instructing federal government agencies to promote and increase competition across industries	3	2	2	4	2	4	3	3	3	3	5	2	3	3	2	3	1
None of these	11	4	14	17	10	12	9	12	11	11	10	7	12	6	10	11	10
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[25] Thinking about the past year, do you think there has been too much change or not enough change since President Biden was elected?

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Not enough change	52	75	48	28	55	48	55	50	52	52	68	70	48	59	67	51	50
Too much change	38	16	35	66	32	44	30	43	36	41	26	15	43	30	28	42	23
Don't know	10	9	17	6	13	7	15	8	13	7	7	15	9	11	5	8	27
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[26] Do you approve or disapprove of how Democratic lawmakers are handling the coronavirus pandemic?

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly approve	17	36	8	2	18	16	16	18	15	21	21	27	16	18	16	20	11
Somewhat approve	29	44	29	12	30	28	35	26	28	31	43	37	26	36	32	29	26
Somewhat disapprove	17	11	21	21	19	16	18	16	19	13	12	13	17	22	17	14	22
Strongly disapprove	30	4	29	62	26	36	20	36	30	31	22	9	35	20	31	34	20
Don't know	6	4	13	4	8	4	11	4	8	3	2	13	5	4	4	3	21
APPROVE (TOTAL)	46	80	37	14	48	44	51	44	43	52	64	64	42	54	48	49	37
DISAPPROVE (TOTAL)	47	15	50	83	45	52	38	52	49	44	34	22	52	42	48	48	42
APPROVE (NET)	-1	+65	-13	-69	+3	-8	+13	-8	-6	+8	+30	+42	-10	+12	0	+1	-5
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[27] Do you approve or disapprove of how Republican lawmakers are handling the coronavirus pandemic?

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly approve	13	5	5	27	10	15	12	13	12	13	12	7	14	13	15	15	5
Somewhat approve	26	15	23	43	27	26	24	28	27	25	24	18	29	20	21	27	20
Somewhat disapprove	20	20	25	17	21	19	23	19	21	20	24	17	20	25	25	18	26
Strongly disapprove	33	56	31	7	31	34	28	36	30	37	35	46	30	35	32	36	27
Don't know	8	4	15	6	10	5	13	5	10	4	5	12	7	8	6	5	22
APPROVE (TOTAL)	39	20	28	70	37	41	36	41	39	38	36	25	43	33	36	42	25
DISAPPROVE (TOTAL)	53	76	56	24	52	53	51	55	51	57	59	63	50	60	57	54	53
APPROVE (NET)	-14	-56	-28	+46	-15	-12	-15	-14	-12	-19	-23	-38	-7	-27	-21	-12	-28
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[28] When thinking about the coronavirus pandemic, which of the following comes closer to your view, even if neither is exactly right? (N=941)

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino/a	High Potential Voter	Non Voter 2020
Democrats are once again taking action to help people get jobs, getting our country back on its feet, while Republicans have only hurt our efforts to end the pandemic, opposing masks and lifesaving vaccines. Democrats are getting Americans vaccinated and getting people back to school and work safely, so that we can recover and rebuild as quickly as possible.	50	87	43	12	48	51	54	47	47	55	78	45	59	50	48
Republicans are protecting our freedom of choice against unnecessary government interference and unlawful, forced vaccine mandates. Everyday Americans have the right to choose what they think is best for themselves against the coronavirus, and hardworking companies should be able to conduct their businesses as they see best.	42	7	42	84	42	42	33	47	44	38	13	46	39	46	26
Don't know	8	6	16	5	10	7	13	6	9	8	9	9	1	4	27
Weighted N	941	358	283	300	499	442	342	599	574	367	107	695	136	636	138

[29] When thinking about the coronavirus pandemic, which of the following comes closer to your view, even if neither is exactly right? (N=1,009)

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino/a	High Potential Voter	Non Voter 2020
Democrats are taking the action needed to save and protect lives, while Republicans are making the pandemic worse. Right now, our hospitals are severely understaffed as doctors and nurses struggle to fight coronavirus, and people suffering from other illnesses like cancer can't receive the care they need because rooms are overcrowded with people dying of the virus.	51	86	44	16	53	48	56	48	47	57	71	46	58	54	47
Republicans are protecting our freedom of choice against unnecessary government inference and unlawful, forced vaccine mandates. Everyday Americans have the right to choose what they think is best for themselves against the coronavirus, and hardworking companies should be able to conduct their businesses as they see best.	41	6	44	80	37	46	32	47	42	41	17	48	26	41	40
Don't know	8	7	12	4	10	5	11	5	11	2	12	6	16	5	14
Weighted N	1,009	399	264	345	535	474	377	632	615	394	115	745	140	688	139

[30] When thinking about the coronavirus pandemic, which of the following comes closer to your view, even if neither is exactly right? (N=1,021)

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Black or African American	White	Latino/a	High Potential Voter	Non Voter 2020
Republicans have undermined all efforts to fight against the coronavirus. Their anti-science beliefs, disregard for common-sense safety measures, and anti-vaccination messages are costing thousands of lives and preventing us from being able to recover from the new virus variants as quickly as possible.	42	76	35	8	44	40	43	41	39	47	61	38	50	45	29
Republicans are protecting our freedom of choice against unnecessary government inference and unlawful, forced vaccine mandates. Everyday Americans have the right to choose what they think is best for themselves against the coronavirus, and hardworking companies should be able to conduct their businesses as they see best.	46	17	40	87	42	51	37	51	46	46	18	52	35	49	29
Don't know	12	7	25	5	15	9	20	8	16	6	21	10	16	6	42
Weighted N	1,021	391	305	325	541	479	382	639	622	398	116	754	146	691	133

[31] Thinking again, do you approve or disapprove of how Republican lawmakers are handling the coronavirus pandemic?

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly approve	14	6	8	30	13	16	15	14	15	13	9	10	15	15	23	17	7
Somewhat approve	27	12	25	47	26	28	24	29	28	25	22	14	30	18	19	27	19
Somewhat disapprove	21	23	25	14	22	19	23	19	20	21	29	24	19	27	21	19	25
Strongly disapprove	31	55	29	5	30	33	28	34	28	37	35	43	29	33	32	34	27
Don't know	7	4	13	5	8	5	11	4	9	3	6	9	6	6	5	3	21
APPROVE (TOTAL)	41	18	33	77	39	44	39	43	43	38	31	24	45	33	42	44	26
DISAPPROVE (TOTAL)	52	78	54	19	52	52	51	53	48	58	64	67	48	60	53	53	52
APPROVE (NET)	-11	-60	-21	+58	-13	-8	-12	-10	-5	-20	-33	-43	-3	-27	-11	-9	-26
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[32] Thinking again, do you approve or disapprove of how Democratic lawmakers are handling the coronavirus pandemic?

Response	Topline	Democrat	Independent / Third party	Repub- lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Strongly approve	21	44	10	3	22	20	22	20	18	25	25	33	19	23	21	25	13
Somewhat approve	28	41	31	12	28	28	33	26	28	28	40	36	25	34	33	26	31
Somewhat disapprove	15	7	18	22	17	13	14	16	16	14	10	9	16	15	12	13	17
Strongly disapprove	29	4	29	58	24	34	19	35	29	30	20	9	34	18	26	32	20
Don't know	7	5	12	5	8	5	12	3	9	3	5	12	5	9	8	4	20
APPROVE (TOTAL)	49	85	41	15	50	48	55	46	46	53	65	69	44	57	54	51	44
DISAPPROVE (TOTAL)	44	11	47	80	41	47	33	51	45	44	30	18	50	33	38	45	37
APPROVE (NET)	+5	+74	-6	-65	+9	+1	+22	-5	+1	+9	+35	+51	-6	+24	+16	+6	+7
Weighted N	2,976	1,147	852	977	1,578	1,398	1,103	1,873	1,815	1,161	113	339	2,198	422	103	2,023	404

[33] In the past year, Republican state lawmakers have passed legislation that places restrictions on abortions. This includes making abortions illegal at six weeks or only permitting an abortion if the pregnant person's health is at serious risk, with no exceptions for cases of rape or incest.

When thinking about these policies, which of the following comes closer to your view, even if neither is exactly correct?

(N=1,460)

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
Republicans are showing they have no respect for the rights of women. These over-reaches of power are undoing all the rights that women have gained over their bodies and do nothing but harm women and their families.	48	74	47	18	53	43	53	46	47	51	58	56	45	60	47	48	44
Republicans are only doing what is best to defend the rights of unborn children, who are harmed by abortion. We need these laws in place to give every child a chance at life.	39	16	34	74	35	45	31	44	39	40	29	22	45	28	50	43	29
Don't know	12	11	19	8	12	12	16	10	14	9	13	21	10	12	3	10	27
Weighted N	1,460	571	423	467	774	686	533	927	890	570	58	166	1,078	196	55	992	196

[34] In the past year, Republican state lawmakers have passed legislation that places restrictions on abortions. This includes making abortions illegal at six weeks or only permitting an abortion if the pregnant person's health is at serious risk, with no exceptions for cases of rape or incest.

When thinking about these policies, which of the following comes closer to your view, even if neither is exactly correct?

(N=1,512)

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	High Potential Voter	Non Voter 2020
These laws ignore the realities that any woman could face, like not being able to support the children they already have, or being too sick to go through a pregnancy. Everyone should have the freedom to choose if and when they start a family.	52	77	48	28	56	48	58	49	49	57	65	72	49	51	53	48
Republicans are only doing what is best to defend the rights of unborn children, who are harmed by abortion. We need these laws in place to give every child a chance at life.	35	12	34	63	30	41	27	40	36	35	27	15	39	34	38	21
Don't know	12	11	19	8	14	11	14	11	15	7	7	14	12	16	9	31
Weighted N	1,512	572	438	502	802	710	570	942	922	590	56	172	1,117	225	1,029	207

[35] During the pandemic Congress passed legislation to support families and workers, such as providing stimulus checks to most Americans and emergency relief for small businesses.

When thinking about these policies, which of the following comes closer to your view, even if neither is exactly correct?

(N=1,518)

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	First Time 2020 Voter	High Potential Voter	Non Voter 2020
While the wealthy made more money during the pandemic, most Americans struggled with job losses, closed businesses, and health care costs. The government provided pandemic relief so we could start rebuilding as a stronger country.	53	70	53	30	57	47	57	50	55	49	61	61	49	63	49	52	50
These policies have gone far enough. The government should help its citizens through tough times, but it also needs to be careful to not overspend or overreach.	39	23	36	64	34	45	30	45	36	45	28	24	44	32	41	44	30
Don't know	8	8	10	6	8	8	13	5	9	6	10	14	7	5	10	5	20
Weighted N	1,518	616	430	472	804	713	583	935	960	558	61	170	1,122	209	62	997	222

[36] During the pandemic Congress passed legislation to support families and workers, such as providing stimulus checks to most Americans and emergency relief for small businesses.

When thinking about these policies, which of the following comes closer to your view, even if neither is exactly correct?

(N=1,458)

Response	Topline	Democrat	Inde- pendent / Third party	Repub lican	Female	Male	Under 45	45+	No College	College	Asian	Black or African American	White	Latino/a	High Potential Voter	Non Voter 2020
The government's pandemic relief has helped create millions of jobs in the last five months, while providing critical support to the most vulnerable, including children. We can create a government that works for Americans and build a stronger, more resilient nation of tomorrow.	45	69	39	25	48	42	50	42	44	46	62	54	42	49	44	45
These policies have gone far enough. The government should help its citizens through tough times, but it also needs to be careful to not overspend or overreach.	47	26	44	72	42	53	36	53	45	50	31	31	51	42	51	32
Don't know	8	5	17	4	11	5	13	5	11	4	7	14	7	9	5	23
Weighted N	1,458	530	422	506	774	685	520	938	855	604	52	169	1,075	213	1,026	183